

# County Distribution Detail Report through 04/06/2021

Α	u	r	O	ra

Adioid									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,057	1,848	3	2,908	\$3,635.00	\$73.77	\$3,561.23	0.70	\$2,492.86
							Entity Tot	al:	\$2,492.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,492.86
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	3,488	10,010	295	13,793	\$17,241.25	\$368.00	\$16,873.25	0.70	\$11,811.28
							Entity Tot	al:	\$11,811.28
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$11,811.28
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
2/2021	878	1,154	5	2,037	\$2,546.25	\$58.81	\$2,487.44	0.70	\$1,741.21
							Entity Tot	al:	\$1,746.46
							Adjustme	nt:	\$0.00
5							Total Amo	ount:	\$1,746.46
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,776	3,851	16	5,643	\$7,053.75	\$142.56	\$6,911.19	0.70	\$4,837.83
							Entity Tot	al:	\$4,837.83
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,837.83
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	10,543	20,642	188	31,373	\$39,216.25	\$831.54	\$38,384.71	0.70	\$26,869.30

Entity Total:	\$26,869.30
Adjustment:	\$0.00
Total Amount:	\$26,869.30

**Total Amount:** 

\$1,755.11

#### Brown

Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	8,956	25,322	532	34,810	\$43,512.50	\$937.14	\$42,575.36	0.70	\$29,802.75
							Entity Tota	al:	\$29,802.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$29,802.75
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,103	3,609	56	5,768	\$7,210.00	\$99.77	\$7,110.23	0.70	\$4,977.16
							Entity Tota	al:	\$4,977.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,977.16
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	529	450	5	984	\$1,230.00	\$16.32	\$1,213.68	0.70	\$849.58
							Entity Tota	al:	\$849.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$849.58
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,165	6,227	39	8,431	\$10,538.75	\$230.99	\$10,307.76	0.70	\$7,215.43
							Entity Tota	al:	\$7,215.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,215.43
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	650	1,387	11	2,048	\$2,560.00	\$52.70	\$2,507.30	0.70	\$1,755.11
							Entity Tota	al:	\$1,755.11
							Adjustmer	nt:	\$0.00

#### **Charles Mix**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,501	5,251	21	7,773	\$9,716.25	\$168.27	\$9,547.98	0.70	\$6,683.59
							Entity Tota	l:	\$6,683.59
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$6,683.59
City of Box Elder, Mead	le Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

#### Ci

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	40	2,707	124	2,871	\$3,588.75	\$88.38	\$3,500.37	0.70	\$2,450.26
4/2020	5	0	80	85	\$106.25	\$2.13	\$104.12	0.70	\$72.88
5/2020	4	0	80	84	\$105.00	\$2.10	\$102.90	0.70	\$72.03
6/2020	4	0	80	84	\$105.00	\$2.10	\$102.90	0.70	\$72.03
7/2020	4	0	0	4	\$5.00	\$0.10	\$4.90	0.70	\$3.43
8/2020	4	0	0	4	\$5.00	\$0.10	\$4.90	0.70	\$3.43
9/2020	4	0	80	84	\$105.00	\$2.10	\$102.90	0.70	\$72.03
10/2020	4	0	80	84	\$105.00	\$2.10	\$102.90	0.70	\$72.03
11/2020	3	0	80	83	\$103.75	\$2.08	\$101.67	0.70	\$71.17
12/2020	3	0	80	83	\$103.75	\$2.08	\$101.67	0.70	\$71.17

Entity Total: \$2,960.46 Adjustment: \$0.00

**Total Amount:** \$2,960.46

## City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	80	0	0	80	\$100.00	\$0.00	\$100.00	0.70	\$70.00
2/2021	625	2,587	114	3,326	\$4,157.50	\$98.49	\$4,059.01	0.70	\$2,841.31
4/2020	78	0	39	117	\$146.25	\$2.93	\$143.32	0.70	\$100.32
5/2020	78	0	39	117	\$146.25	\$2.93	\$143.32	0.70	\$100.32
6/2020	77	0	39	116	\$145.00	\$2.91	\$142.09	0.70	\$99.46
7/2020	77	0	0	77	\$96.25	\$1.93	\$94.32	0.70	\$66.02
8/2020	76	0	0	76	\$95.00	\$1.90	\$93.10	0.70	\$65.17
9/2020	76	0	53	129	\$161.25	\$3.23	\$158.02	0.70	\$110.61
10/2020	76	0	53	129	\$161.25	\$3.23	\$158.02	0.70	\$110.61
11/2020	72	0	53	125	\$156.25	\$3.13	\$153.12	0.70	\$107.18
12/2020	72	0	53	125	\$156.25	\$3.13	\$153.12	0.70	\$107.18

Entity Total: \$3,778.18 Adjustment: \$0.00 **Total Amount:** \$3,778.18

City of	Pierre.	Hughes	Co.
---------	---------	--------	-----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amou
2/2021	3,394	10,927	304	14,625	\$18,281.25	\$378.89	\$17,902.36	0.70	\$12,531.6
							Entity Tot	al:	\$12,531.6
							Adjustme	nt:	\$0.00
ity of Sioux Falls, Lind	coln (						Total Amo	ount:	\$12,531.65
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amoun
2/2021	3,772	25,452	2,129	31,353	\$39,191.25	\$833.62	\$38,357.63	0.70	\$26,850.3
4/2020	1,194	0	33	1,227	\$1,533.75	\$30.68	\$1,503.07	0.70	\$1,052.15
5/2020	1,178	0	33	1,211	\$1,513.75	\$30.28	\$1,483.47	0.70	\$1,038.43
6/2020 7/2020	1,170 1,156	0	46 0	1,216 1,156	\$1,520.00 \$1,445.00	\$30.40 \$28.90	\$1,489.60 \$1,416.10	0.70 0.70	\$1,042.72 \$991.27
8/2020	1,126	0	0	1,126	\$1,407.50	\$28.15	\$1,379.35	0.70	\$965.55
9/2020	1,119	0	207	1,326	\$1,657.50	\$33.16	\$1,624.34	0.70	\$1,137.04
10/2020	1,114	0	186	1,300	\$1,625.00	\$32.50	\$1,592.50	0.70	\$1,114.75
11/2020	1,060	0	186	1,246	\$1,557.50	\$31.15	\$1,526.35	0.70	\$1,068.45
12/2020	1,057	0	178	1,235	\$1,543.75	\$30.88	\$1,512.87	0.70	\$1,059.01
							Entity Tot	al:	\$36,319.71
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$36,319.71
lark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amoun
2/2021	1,240	2,297	32	3,569	\$4,461.25	\$92.14	\$4,369.11	0.70	\$3,058.38
							Entity Tot	al:	\$3,058.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,058.38
lay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amoun
2/2021	1,525	7,305	257	9,087	\$11,358.75	\$244.45	\$11,114.30	0.70	\$7,780.01
							Entity Tot	al:	\$7,780.01
							Adjustme	nt:	\$0.00
							Total Amo	vint.	\$7,780.01

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
					_			Percent	·
2/2021	6,581	18,142	634	25,357	\$31,696.25	\$682.21	\$31,014.04	0.70	\$21,709.83
							Entity Tot	al:	\$21,709.83
							Adjustme		\$0.00
Corson							Total Amo	ount:	\$21,709.83
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,037	690	271	1,998	\$2,497.50	\$50.78	\$2,446.72	0.70	\$1,712.70
							Entity Tot	al:	\$1,712.70
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,712.70
custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	3,116	5,588	41	8,745	\$10,931.25	\$246.70	\$10,684.55	0.70	\$7,479.19
							Entity Tot	al:	\$7,479.19
							Adjustme	nt:	\$0.00
avison							Total Amo	ount:	\$7,479.19
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	4,553	13,588	322	18,463	\$23,078.75	\$480.10	\$22,598.65	0.70	\$15,819.06
							Entity Tot	al:	\$15,819.06
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$15,819.06
Panarting Pariod	Talasam Lines	Minalaga Linas	VOID Lines	Tatallimaa	Curah awas	Admin For	Net Couches	Fratita	Fuelter Amazout
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Percent	Entity Amount
2/2021	1,871	3,392	31	5,294	\$6,617.50	\$135.26	\$6,482.24	0.70	\$4,537.57
							Entity Tot	al:	\$4,537.57
							Adjustme		\$0.00
euel							Total Amo	ount:	\$4,537.57
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:	\$3,861.66
Adjustment:	\$0.00
Total Amount:	\$3,861.66

\$6,149.55

**Total Amount:** 

### Douglas

Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,130	2,080	7	3,217	\$4,021.25	\$79.08	\$3,942.17	0.70	\$2,759.52
							Entity Total	al:	\$2,759.52
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,759.52
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,204	2,740	39	3,983	\$4,978.75	\$100.65	\$4,878.10	0.70	\$3,414.67
							Entity Total	al:	\$3,414.67
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,414.67
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,802	4,460	22	7,284	\$9,105.00	\$187.22	\$8,917.78	0.70	\$6,242.45
							Entity Tota	al:	\$6,242.45
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,242.45
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	696	1,428	13	2,137	\$2,671.25	\$54.68	\$2,616.57	0.70	\$1,831.60
							Entity Tota	al:	\$1,831.60
							Adjustme	nt:	\$0.00
Grant							Total Amo	unt:	\$1,831.60
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,923	5,214	41	7,178	\$8,972.50	\$187.43	\$8,785.07	0.70	\$6,149.55
							Entity Total	al:	\$6,149.55
							Adjustme	nt:	\$0.00

Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,596	3,450	3	5,049	\$6,311.25	\$140.24	\$6,171.01	0.70	\$4,319.71
							Entity Tota	al:	\$4,319.71
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,319.71
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	974	1,306	6	2,286	\$2,857.50	\$57.56	\$2,799.94	0.70	\$1,959.96
							Entity Tota	al:	\$1,959.96
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,959.96
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,517	3,551	26	5,094	\$6,367.50	\$128.03	\$6,239.47	0.70	\$4,367.63
							Entity Tota	al:	\$4,367.63
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,367.63
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
2/2021	1,000	2,565	41	3,606	\$4,507.50	\$96.23	\$4,411.27	Percent 0.70	\$3,087.89
2/2021	1,000	2,303	71	3,000	ψ4,507.50	ψθ0.23	Entity Tota		\$3,087.89
							Adjustme		\$0.00
							Total Amo		\$3,087.89
Hanson							Total Amo	vuiit.	φ3,007.03
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
2/2021	810	2,923	26	3,759	\$4,698.75	\$97.75	\$4,601.00	Percent 0.70	\$3,220.70
							Entity Tota		\$3,220.70
							Adjustme		\$0.00
							Total Amo		\$3,220.70
Harding							Total Allic	· witt	ΨΟ,ΣΣΟ.Τ Ο
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

2/2021	660	834	2	1,496	\$1,870.00	\$48.05	\$1,821.95	0.70	\$1,275.37
							Entity Total	l <u>:</u>	\$1,275.37
							Adjustment		\$0.00
							Total Amou		\$1,275.37
Hughes									, ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
								Percent	
2/2021	588	3,019	193	3,800	\$4,750.00	\$150.34	\$4,599.66	0.70	\$3,219.76
							Entity Total	l:	\$3,219.76
							Adjustment	t:	\$0.00
							Total Amou	int:	\$3,219.76
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,701	4,956	42	7,699	\$9,623.75	\$196.93	\$9,426.82	0.70	\$6,598.77
							Entity Total	l:	\$6,598.77
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$6,598.77
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	574	1,044	4	1,622	\$2,027.50	\$41.18	\$1,986.32	0.70	\$1,390.42
							Entity Total	l:	\$1,390.42
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,390.42
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	601	819	4	1,424	\$1,780.00	\$36.08	\$1,743.92	0.70	\$1,220.74
							Entity Total	l:	\$1,220.74
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,220.74
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	775	1,245	6	2,026	\$2,532.50	\$51.08	\$2,481.42	0.70	\$1,736.99
							Entity Total	l:	\$1,736.99

Adjustment:	\$0.00
Total Amount:	\$1,736.99

-				
	_	n	^	•

2/2021

4/2020

5/2020

6/2020

7/2020

8/2020

3,255

-1,194

-1,178

-1,170

-1,156

-1,126

22,940

0

0

0

1,614

-33

-33

-46

0

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	507	647	5	1,159	\$1,448.75	\$29.26	\$1,419.49	0.70	\$993.64
							Entity Tota	al:	\$993.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$993.64
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,100	3,821	46	4,967	\$6,208.75	\$136.53	\$6,072.22	0.70	\$4,250.55
							Entity Tota	al:	\$4,250.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,250.55
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,428	8,778	110	11,316	\$14,145.00	\$300.67	\$13,844.33	0.70	\$9,691.03
							Entity Tota	al:	\$9,691.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$9,691.03
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	6,835	16,637	236	23,708	\$29,635.00	\$618.00	\$29,017.00	0.70	\$20,311.90
							Entity Tota	al:	\$20,311.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,311.90
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

27,809

-1,227

-1,211

-1,216

-1,156

-1,126

\$34,761.25

\$-1,533.75

\$-1,513.75

\$-1,520.00

\$-1,445.00

\$-1,407.50

\$778.49

\$-30.68

\$-30.28

\$-30.40

\$-28.90

\$-28.15

\$33,982.76

\$-1,503.07

\$-1,483.47

\$-1,489.60

\$-1,416.10

\$-1,379.35

0.70

0.70

0.70

0.70

0.70

0.70

\$23,787.93

\$-1,052.15

\$-1,038.43

\$-1,042.72

\$-991.27

\$-965.55

9/2020	-1,119	0	-207	-1,326	\$-1,657.50	\$-33.16	\$-1,624.34	0.70	\$-1,137.04
10/2020	-1,114	0	-186	-1,300	\$-1,625.00	\$-32.50	\$-1,592.50	0.70	\$-1,114.75
11/2020	-1,060	0	-186	-1,246	\$-1,557.50	\$-31.15	\$-1,526.35	0.70	\$-1,068.45
12/2020	-1,057	0	-178	-1,235	\$-1,543.75	\$-30.87	\$-1,512.88	0.70	\$-1,059.02
							Entity Total	al:	\$14,318.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$14,318.55
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,067	1,728	217	3,012	\$3,765.00	\$83.53	\$3,681.47	0.70	\$2,577.03
							Entity Tota	al:	\$2,577.03
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,577.03
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,469	2,830	37	4,336	\$5,420.00	\$127.35	\$5,292.65	0.70	\$3,704.86
							Entity Tota	al:	\$3,704.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,704.86
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,892	4,227	54	6,173	\$7,716.25	\$157.94	\$7,558.31	0.70	\$5,290.82
							Entity Tota	al:	\$5,290.82
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,290.82
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	924	1,481	4	2,409	\$3,011.25	\$71.85	\$2,939.40	0.70	\$2,057.58
							Entity Tota	al:	\$2,057.58
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,057.58
Meade									

2/2021	3,186	17,623	159	20,968	\$26,210.00	\$558.68	\$25,651.32	0.70	\$17,955.92
4/2020	-5	0	-80	-85	\$-106.25	\$-2.12	\$-104.13	0.70	\$-72.89
5/2020	-4	0	-80	-84	\$-105.00	\$-2.10	\$-102.90	0.70	\$-72.03
6/2020	-4	0	-80	-84	\$-105.00	\$-2.10	\$-102.90	0.70	\$-72.03
7/2020	-4	0	0	-4	\$-5.00	\$-0.10	\$-4.90	0.70	\$-3.43
8/2020	-4	0	0	-4	\$-5.00	\$-0.10	\$-4.90	0.70	\$-3.43
9/2020	-4	0	-80	-84	\$-105.00	\$-2.10	\$-102.90	0.70	\$-72.03
10/2020	-4	0	-80	-84	\$-105.00	\$-2.10	\$-102.90	0.70	\$-72.03
11/2020	-3	0	-80	-83	\$-103.75	\$-2.07	\$-101.68	0.70	\$-71.18
12/2020	-3	0	-80	-83	\$-103.75	\$-2.07	\$-101.68	0.70	\$-71.18
							Entity Tot	al:	\$17,445.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$17,445.69
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	550	665	0	1,215	\$1,518.75	\$30.53	\$1,488.22	0.70	\$1,041.75
							Entity Tot	al:	\$1,041.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,041.75
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	935	1,563	20	2,518	\$3,147.50	\$63.23	\$3,084.27	0.70	\$2,158.99
							Entity Tot	al:	\$2,158.99
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,158.99
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	39,536	146,938	4,702	191,176	\$238,970.00	\$5,159.56	\$233,810.44	0.70	\$163,667.31
4/2020	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
11/2020	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
12/2020	0	0	0	0	\$0.00	\$-0.02	\$0.02	0.70	\$0.01
							Entity Tot	al:	\$163,667.34
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$163,667.34
Moody									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,076	4,488	72	5,636	\$7,045.00	\$168.26	\$6,876.74	0.70	\$4,813.72
							Entity Tot	al:	\$4,813.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,813.72
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	22,575	79,453	2,020	104,048	\$130,060.00	\$2,795.67	\$127,264.33	0.70	\$89,085.03
							Entity Tot	al:	\$89,085.03
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$89,085.03
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,658	2,223	11	3,892	\$4,865.00	\$107.56	\$4,757.44	0.70	\$3,330.21
							Entity Tot	al:	\$3,330.21
							Adjustme	nt:	\$0.00
D #							Total Amo	ount:	\$3,330.21
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,012	1,708	9	2,729	\$3,411.25	\$68.86	\$3,342.39	0.70	\$2,339.67
							Entity Tot	al:	\$2,339.67
							Adjustme	nt:	\$0.00
Roberts							Total Amo	ount:	\$2,339.67
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
	0.000	4.007	4-	0.075				Percent	
2/2021	3,093	4,967	15	8,075	\$10,093.75	\$202.54	\$9,891.21	0.70	\$6,923.85
							Entity Tot		\$6,923.85
							Adjustme		\$0.00
Sanborn							Total Amo	ount:	\$6,923.85
					_				
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:	\$2,114.88
Adjustment:	\$0.00
Total Amount:	\$2,114.88

\$5,188.56

**Total Amount:** 

Spink	
-------	--

Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,742	4,339	25	6,106	\$7,632.50	\$156.36	\$7,476.14	0.70	\$5,233.30
							Entity Tota	al:	\$5,233.30
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$5,233.30
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	677	2,087	51	2,815	\$3,518.75	\$75.26	\$3,443.49	0.70	\$2,410.44
							Entity Tota	al:	\$2,410.44
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$2,410.44
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	577	1,132	5	1,714	\$2,142.50	\$43.55	\$2,098.95	0.70	\$1,469.27
							Entity Tota	al:	\$1,469.27
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,469.27
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	0	84	1	85	\$106.25	\$12.35	\$93.90	0.70	\$65.73
							Entity Tota	al:	\$65.73
							Adjustmer		\$0.00
Tripp							Total Amo	ount:	\$65.73
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	2,192	3,829	32	6,053	\$7,566.25	\$154.02	\$7,412.23	0.70	\$5,188.56
							Entity Tota	al:	\$5,188.56
							Adjustmer		\$0.00

т		n	_

Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,869	6,050	14	7,933	\$9,916.25	\$203.01	\$9,713.24	0.70	\$6,799.27
							Entity Total:		\$6,799.27
							Adjustment:		\$0.00
							Total Amour	Total Amount:	
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2021	220	0	0	220	\$275.00	\$0.00	\$275.00	0.70	\$192.50
2/2021	2,614	10,944	536	14,094	\$17,617.50	\$438.65	\$17,178.85	0.70	\$12,025.20
4/2020	-78	0	-39	-117	\$-146.25	\$-2.93	\$-143.32	0.70	\$-100.32
5/2020	-78	0	-39	-117	\$-146.25	\$-2.93	\$-143.32	0.70	\$-100.32
6/2020	-77	0	-39	-116	\$-145.00	\$-2.91	\$-142.09	0.70	\$-99.46
7/2020	-77	0	0	-77	\$-96.25	\$-1.93	\$-94.32	0.70	\$-66.02
8/2020	-76	0	0	-76	\$-95.00	\$-1.90	\$-93.10	0.70	\$-65.17
9/2020	-76	0	-53	-129	\$-161.25	\$-3.23	\$-158.02	0.70	\$-110.61
10/2020	-76	0	-53	-129	\$-161.25	\$-3.23	\$-158.02	0.70	\$-110.61
11/2020	-72	0	-53	-125	\$-156.25	\$-3.13	\$-153.12	0.70	\$-107.18
12/2020	-72	0	-53	-125	\$-156.25	\$-3.13	\$-153.12	0.70	\$-107.18
							Entity Total:		\$11,350.83
							Adjustment: Total Amount:		\$0.00
									\$11,350.83
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	1,826	3,591	208	5,625	\$7,031.25	\$144.58	\$6,886.67	0.70	\$4,820.67
							Entity Total:		\$4,820.67
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,820.67
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2021	4,464	15,780	342	20,586	\$25,732.50	\$542.92	\$25,189.58	0.70	\$17,632.71
							Entity Total:	Entity Total:	
							Adjustment:		\$0.00
							Total Amour	Total Amount:	
Totals	193,687	589,163	16,507	799,357	\$ 999,196.25	\$ 21,377.21	\$ 977,819.04		